Premena jednotiek objemu
1 200 m3= ...........................hl
0,09 cm3= ...........................mm3
12,86 mm3=........................dm3
0,00045 dm3=.....................cl
190 l = .................................mm3
0,5 hl = ................................m3
10,10 m3= ...........................dm3
0,002 cm3=...........................mm3
134,1 dm3=...........................m3
99,9 cl =................................cm3
14 ml =..................................hl
0,0076 dm3=.........................cm3
67,5 dl = ...............................cm3
500 hl = ................................dm3
0,908 cl =...............................dm3
0,908 dm3=............................cl
0,1 hl = ..................................cm3
15 m3= ..................................hl
0,0056 cm3=...........................mm3
12,012 cm3=...........................dl
1,012 cl =................................mm3
67 dm3= .................................m3
900 mm3=...............................dm3
102hl = ...............................m3
2 200 m3= ...............................cm3
0,09 cm3= ...............................mm3
12,86 mm3=............................dm3
0,00045 dm3=.........................cl
190 l = ....................................mm3
0,5 hl = ...................................m3
10,10 m3= ..............................dm3
102,7 hl = ...............................m3
2 200 m3 =...............................l
0,074 cm3=.............................mm3
0,45 dm3=...............................mm3
0,0006 dm3=...........................ml

Premena jednotiek objemu
1 200 m3= ...........................hl
0,09 cm3= ...........................mm3
12,86 mm3=........................dm3
0,00045 dm3=.....................cl
190 l = .................................mm3
0,5 hl = ................................m3
10,10 m3= ...........................dm3
0,002 cm3=...........................mm3
134,1 dm3=...........................m3
99,9 cl =................................cm3
14 ml =..................................hl
0,0076 dm3=.........................cm3
67,5 dl = ...............................cm3
500 hl = ................................dm3
0,908 cl =...............................dm3
0,908 dm3=............................cl
0,1 hl = ..................................cm3
15 m3= ..................................hl
0,0056 cm3=...........................mm3
12,012 cm3=...........................dl
1,012 cl =................................mm3
67 dm3= .................................m3
900 mm3=...............................dm3
102 hl = ...............................m3
2 200 m3= ...............................cm3
0,09 cm3= ...............................mm3
12,86 mm3=............................dm3
0,00045 dm3=.........................cl
190 l = ....................................mm3
0,5 hl = ...................................m3
10,10 m3= ..............................dm3
102,7 hl = ...............................m3
2 200 m3 =...............................l
0,074 cm3=.............................mm3
0,45 dm3=...............................mm3
0,0006 dm3=...........................ml

Premena jednotiek objemu
1 200 m3= ...........................hl
0,09 cm3= ...........................mm3
12,86 mm3=........................dm3
0,00045 dm3=.....................cl
190 l = .................................mm3
0,5 hl = ................................m3
10,10 m3= ...........................dm3
0,002 cm3=...........................mm3
134,1 dm3=...........................m3
99,9 cl =................................cm3
14 ml =..................................hl
0,0076 dm3=.........................cm3
67,5 dl = ...............................cm3
500 hl = ................................dm3
0,908 cl =...............................dm3
0,908 dm3=............................cl
0,1 hl = ..................................cm3
15 m3= ..................................hl
0,0056 cm3=...........................mm3
12,012 cm3=...........................dl
1,012 cl =................................mm3
67 dm3= .................................m3
900 mm3=...............................dm3
102 hl = ...............................m3
2 200 m3= ...............................cm3
0,09 cm3= ...............................mm3
12,86 mm3=............................dm3
0,00045 dm3=.........................cl
190 l = ....................................mm3
0,5 hl = ...................................m3
10,10 m3= ..............................dm3
102,7 hl = ...............................m3
2 200 m3 =...............................l
0,074 cm3=.............................mm3
0,45 dm3=...............................mm3
0,0006 dm3=...........................ml


Riešenie:
1 200 m3 = 1 200 hl
0,09 cm3=  90 mm3
12,86 mm3= 0,000 012 86dm3
0,000 45 dm3= 0,045 cl
190 l = 190 000 000 mm3
0,5 hl = 0,05 m3
10,10 m3= 10100 dm3
0,002 cm3= 2 mm3
134,1 dm3= 0,1341 m3
99,9 cl = 999 cm3
14 ml = 0,000 14 hl
0,0076 dm3= 7,6 cm3
67,5 dl = 6 750 cm3
500 hl = 50 000 dm3
0,908 cl = 0,009 08 dm3
0,908 dm3= 908 cl
0,1 hl = 10 000 cm3
15 m3= 150 hl
0,0056 cm3= 5,6 mm3
12,012 cm3= 0,12012 dl
1,012 cl = 10120 mm3
67 dm3= 0,067 m3
900 mm3= 0,0009 dm3
102 hl = 10,2 m3
2 200 m3 = 2,2 cm3
0,09 cm3= 90 mm3
12,86 mm3= 0,000 012 86 dm3
0,00045 dm3= 0,045 cl
190 l = 190 000 000mm3
0,5 hl =  0,05 m3
10,10 m3= 10 100 dm3
102,7 hl = 10,27 m3
2 200 m3=2 200 000 l 
0,074 cm3=74 mm3
0,45 dm3= 450 000 mm3
0,0006 dm3=0,6 ml









